1. You are provided with olive oil, liquids labeled 1.1 and L2, and an Irish potato. Label test tubes A and B-
Place 2cm3 of water into each test tybe. Add 8 drops of olive oil into each test tube. To test tube A, add s

drops of liquid Lt Shake both test tubes. Allow to stand for 2 minutes,

(a) (1) Record your observations (2 marks)
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(ii) Name the process that has taken place in test tube A (1 mark)
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(iii) State the significance of the process named in (a) above (1 mark)
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(v) Nme The di’E&‘ﬁﬁé jui% in humans that ha;’ta: same effect on oil ’ 8
liquid L1 (Z mark)

'+ n(v) Nan:e the region-of the alimentary canal into whieh the juice is secreted (1 k.-ark)
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i (i) Labc. Lwo test wubes C and D.placc_;zlch‘l‘é of liquid 1.2 into each test tube. Add a drop <. e "ne s2lunor Tte  oh

test tube. Record your observatiéns._-=(1 maiy)
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(ii) Suggest the identity of L2 (1 mark)
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(iii) Cut a cube whose sides are 1cm3 from the Irish potato. Ccl‘iusl;}'liil cube to obtain a paste. Place the paste into 5

test tube labeled C. add 2cm3 of amylase solution{;\teave .fﬁe set up for at%ast 30 minutes.

Record your observations (2 marks)
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(iv) Account for the result in (b)(iii) above (2 marks) ©
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(c) Cut anoth\:r\&ﬁsé Whose sides are Tem from the Ir:sh pot;hqm the cubc\ﬁacecﬁe cru}hed'“ aste u;t;i; test
tube. Carry out food test with reagents provided. Record your procedure and results.

Procedure: (1 mark) e
~Prd A Rasks dnke. s Slean. Ay ot

"Ald 1M\ LY \:;nau-ilé\\:"-’i So\d e a

sssemssnna e

1‘&"—2" At vy Y
Results: (1 mark) 3:“_-1-.:;-\:‘?3\ (’L ObSG—rw ’\'f«-b C_r:ai.m_,, (:J-Q\%;\ &
...:g..i.ﬂ#....cfﬁ&?.e..{.....Q.é’....ﬁmﬁl@ﬁ?&...'.%..t;aluth.ﬁ.m ..... i"o—wﬂt.&(

------------------------------------- e N T L T I T

2. Study the photoglraphs A and B that shows part of plants in
natural habitut.

A ; B

a) Name the type of the plant response shown in:
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b) Explain the mechanisms of the respon &m
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c) State the biological significance of the response to plants in
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d) Suggest the nature of the habitat that plants with the type of response A grows. (1 mark)



3. Study photographs shown below the

N answer the questions,
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b) Explain the type of evolution identified i (a) above miy
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d). what type of evolution is illtistrated by tiklhe limbs (A1, B1 and C1)? (Imk)
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(ii) Give two reasons for placing S in the class above (2mks)
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f) (i) Suggest the diet of animals B and R.
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~ (ii) How isbeak of animzii-ﬂ;'-ﬂd&gte% to its function? (1mk) _
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